FTEHE FYEQGxX) (57) BE

@ 3 + 1 = 30 6 + 2
@ 3 + 1 = 30 W) 7 + 3
©) 8 -+ 6 = 12 8 -+ i
@ 2 -+ 2 = 10 9 -+ 9
® 9 + 4 = 11 @ 1 ~ 4
® 4 + 3 = 11 @ 3 ~ 2
@ 7 + 3 =  2...1 @ 9 - 4
9 + 1 = 50 @ 6 = 5
€) 9 - 2 = 21 @ 2 -+ 1
8 o 1 = 11 ) 3 -~ 3
@ 7 + 7 = 10 ® 6 -~ 9
@ 9 o 1 = 50 @ 2 + 1
® 4 + 2 = 20 1 + 2
2 = 1 = 92...0 @ 6 - 5
® 1 -+ ) = 12 1 + 1
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FTERE FYE(IxT) (58) R

@® 9 + 1 = 9---0 9 + 5
@ 3 + 2 = 11 @ 1 + 1
©) 8 + 3 = 22 5 -+ 2
@ 1 + 1 = 10 9 -+ 7
® 7 - 2 = 31 @ 9 . 1
® 6 - 3 = 20 @ 4 -+ 4
@ 5 - 3 = 1.-:9 @ 9 . 5
9 - 4 = 21 @ 1 = 1
©) 1 + 1 = 10 @ 6 -+ 9
7 -+ 5 = 12 ® 9 -+ 9
@ 3 -+ 1 = 30 ® 3 + 1
@ 6 -+ 4 = 12 @ 9 + 8
® 4 + 4 = 10 3 -+ 1
9 -+ 3 = 12 @ 4 - 2
® 4 + 2 = 20 3 -+ 2
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FTEHE FYEQ(xXT) (59) fRE

@® 9 + 2 = 41 9 + 2
@ 1 + 1 = 1---0 @ 8 + 7
©) 6 + 5 = 11 4 + 1
@ 8 + 2 = 4---0 1 + 1
® 3 - 3 = 1---0 @ 3 . 2
® 3 - 1 = 30 @ 9 + 5
@ 3 - 1 = 30 @ 6 + 6
6 - 1 = 60 @ 7 - 1
©) 3 - 1 = 30 @ 2 - 1
9 + 9 = 1---0 ® 1 + 1
@ 6 + 1 = 60 ® 9 + 5
@ 3 + 3 = 1---0 @ 5 + 5
® 7 + 3 = 21 8 + 6
2 + 1 = 20 ® 7 + 4
® 6 + 6 = 1---0 1 + 1
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FTEHE FYE(Ix1) (60) R

® 7 + 3 = 2 9 + 6
@ 4 + 1 = 4.0 @ 4 + 4
® 8 + 2 = 40 6 + 4
@ 7 + 3 = 2 7 + 6
® 4 e 4 = 10 @ 7 2 7
® 4 + 1 = 40 @ 6 2 6
@ 3 + 1 = 30 @ 1 + 1
1 + 1 = 10 ® 4 2 4
@ 5 - 3 = 12 @ 9 + 4
6 - 3 = 220 ® 9 + 7
@ 3 + 1 = 30 ® 9 + 6
@ 5 + 2 = 2 @ 9 R 8
® 5 R 3 = 12 1 + 1
8 R 5 = 13 @® 2 + 1
® 9 R 6 = 13 8 R 8
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FTEHE FYEQGX) (61) fEE

@ 7 + 7 = 10 7 + 5
@ 1 + 1 = 10 @ 4 + 2
©) 4 + 3 = 11 3 + 1
@ 4 + 1 = 4---0 2 + 2
® 2 - 2 = 1---0 @ 2 . 2
® 4 + 1 = 40 @ 3 - 3
@ 4 + 2 = 2---0 @ 1 + 1
1 + 1 = 10 @ 6 - 5
©) 1 + 1 = 10 @ 6 - 4
2 + 2 = 1---0 ® 8 + 4
@ 8 + 3 = 22 ® 3 + 3
@ 9 + 1 = 90 @ 3 + 3
® 8 + 4 = 20 1 + 1
7 + 1 = 70 @ 2 + 2
® 9 + 1 = 90 4 + 3
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FEHE FYEGXT) (62) fRE

@ 5 - 4 = 1-1 8 + 2
@ 3 - 3 = 10 W) 7 + 2
€) 3 + 2 = 11 4 + 2
@ 3 + 2 = 11 5 + 1
® 8 - 4 = 20 @ 6 + 3
® 4 - 1 = 40 @ 5 + 5
@ 9 + 6 = 1---3 @ 3 - 1
7 - 7 = 10 @ 8 + 8
€) 4 - 1 = 40 @ 3 + 2
9 + 4 = 2-1 ) 4 + 3
Q) 1 + 1 = 10 ® 4 + 2
@ 3 + 1 = 30 @ 6 - 3
® 3 + 3 = 10 7 + 1
3 + 2 = 11 ® 6 - 6
® 6 + 3 = 20 5 - 9
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TEHE FYE(XT) (63) fEE

® 7 0+ 2 = 3 9 = 7
@ 5 + 5 = (-0 @ 3 + 1
® 8 = 1 = 1 3 = 1
@ 3 + 3 = 10 3 = 1
® 8 =+ 7 =11 ® 6 + 3
® 6 + 5 = (-1 @ 2 + 1
@ 4 = 1 = 40 @ 9 + 5
4 = 1 = 40 ® 71 + 3
@ 2 = 1 = 20 ® 8 + 2
1 + i1 =10 ® 6 =+ 4
W 8 =+ 1 = 80 ® 4 = 1
@ 2 + 2 = 10 @ 2 @+ 1
® 4 = 3 = 1 3+ 1
4 + 4 = 10 ® 3 + 3
® 5 + 2 = 2 5 + 5
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FTEHE FYEQGXT) (64) fRE

® 3 + 2 = - 5 + 3
@ 7 + 7 = 10 @ 8 + 3
® 9 + 1 = 90 6 + 3
@ 6 + 5 = {e 8 + 5
® 6 e 2 = 30 @ 9 2 8
® 2 + 1 = 220 @ 1 + 1
@ 7 e 2 = 3 @ 9 2 6
4 e 2 = 220 ® 8 2 4
@ 9 - 4 = 2 ® 6 + 5
3 - 3 = 10 ® 8 + 3
@ 9 + 1 = 90 ® 9 + 5
@ 3 + 2 = - @ 8 R 6
® 9 R 5 = {4 3 + 1
5 R 3 = 12 @® 9 + 1
® 1 + 1 = 1-0 9 + 4
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